《12.2三角形全等的判定》习题
1．如图，在[image: image1.png]RthABC



中，[image: image2.png]DE 1 AB



于点[image: image3.png]


，[image: image4.png]BC=3D



，如果[image: image5.png]AC =3em



，那么AC+DE=         .
2．如图，AC=AD，∠C=∠D=90度，你能说明[image: image6.png]BC=3D



？
3．如图，已知[image: image7.png]BE 1 AD,CF 1L AD



，且[image: image8.png]


，请你判断[image: image9.png]


是[image: image10.png]AABC



的中线还是角平分线，并说明理由.
4．已知，如图，[image: image11.png]


为[image: image12.png]ZAOB



内一点，[image: image13.png]PD1OAFPELOB



，垂足分别为[image: image14.png]


，且[image: image15.png]PD=PE



，猜想[image: image16.png]ZAOP



与[image: image17.png]ZBOP



有什么关系？试说明理由.
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